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Question 1:  
I can subtract ones from a 3 digit  
number.  

 

I feel  

I feel  

Question 2:  
I can subtract tens from a 3 digit  
number.     

 

I feel  

  Work out the answer to these subtraction sums.  

a) 124 - 1 =     d) 140 - 1 = 
 

b) 287 - 4 =    e) 172 – 6 =     
 

c) 445 - 5 =     f) 215 - 8 = 

a) 171 - 10 =     d) 304 - 10 =  
 

b) 317 - 10 =     e) 109 -  10 =  
 

c) 132 - 20 =    f) 402 - 20 =  
 

  Work out the answer to these subtraction sums.  
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Question 3:  
I can subtract hundreds from a  
 3 digit number. 

 

I feel  

I feel  

a) 260 - 100 =       d) 532 - 300 =  
 

b) 104 - 100 =       e) 245 - 110 =  
 

c) 356 - 200=      f) 418 – 210 =  
 
      

   Work out the answer to these subtraction sums:  

Question 4:  
I can subtract 2 numbers by counting 
 on 

 
I feel  

.  

 
      

 

a) 67- 59  =      
 
 
 
b) 194 - 171  =   

 
      



a) 93 - 61 =  
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    Question 5:  
    I am beginning to use a written method 

for subtraction sums.  
 

a)  184 - 53 =   b)   267 - 154 =  

Show me how to work out:    

I feel  

    Question 6:  
    I am beginning to use the column method  

for  subtraction sums.  
 

I feel  

Show me how to work out:    

b)  569 - 117=  
 T 0 
 9 3 
 6 1
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Question 7:  
I can estimate the answer to subtraction  
calculations.      

 

I feel:  

Question 8:  
 I can use the inverse operation to  
solve a problem.  

 
 

 

I feel:  

Estimate the answer to this subtraction sum.  
 
691 – 306  
 
  
 
 

Fill in the missing boxes in these sums.  
 
 

a)  15  +           =   78 
 

 
b)         +    143  =  296  
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